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Superheat is the difference between the boiling point of
the refrigerant in the evaporator and the temperature of
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and fine tuning of the superheat
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Measuring Superheat

+10°C

A=

During stable operation with the refrigerated space at or near
design temperature the superheat can be determined by

taking the following readings.

Where,

A
B

Evaporating temperature correlating to the pressure

Temperature at the Bulb of the TX Valve.

taken at the Schrader valve using an Actrol

Temperature/Pressure Chart.

Superheat

804kPa equals +4°C on an Actrol Temperature/Pressure Chart,

this is the evaporating temperature. The temperature reading

of +10°C is the temperature at the bulb of the TX valve.

For a system using R410A, the dew pressure gauge reading of
A-B

Example:

A-B

Superheat

10 (°C) -4 (°C) = 6 (K)

V2 [BROCHURE CODE: 2126025]



oL 99v  aes 65 ow | or oz 612 oist 28z cvel | 992  sg8l o0z £98l log oz | sig 8512 oL
89 by £908 95 vee | L& osz 602  8svh | 692  .s8k | vse  osu  8se 210 88z  v86l | 6.2 2z6l | 89
99 sev  8l6C 2 6se | ve L2 661 6981 | 252 vLLL eve 199k 9ve  ve9l | s ves. | 99z 28l | 99
v9 sov 6.2 67 see | ee 612 681 zost | ove  wveor | osz  88st  veZ w9k 29z L08. | ssg Ssvl v9
29 £88 9z st 2 62 102 6.1 ssel | vee aloL 612 ust sz 9gsk | ose  sel e 299k | 29
09 s98  vise (42 o6z | L2 S8t oz [ see st 802 vl [ 2ovt | 8se  evor | ez 1851 09
85 s 6852 68 89z | e 691 291 sut s1z 89vL 861 gosL 20z 06SL | L2z vost 812 zost | s
9 628 6922 o sve | 22 £sh £s1 501 | soz  sest 88l 962t 164 ozst 9z 88yl | 02 lewk | 9s
vs 2le sz e 62z | o2 65k sy 200k | g6l osst 8.1 oszt 281 sszL | soz Skl 96k vssl | vS
e 96z  0vOT o [olt4 8 sel 251 86 81 vozL | 69k SOl A1 88iL sel  vvsk 98l  vsel 2
0s 082 £261 82 26k 9l i o} 968 vl Loz 091 oL £91 oz S8l 9/2k 9/l pAr4N 0s
8y s9z 628k sz su v 86 s2h o8 soL ovi ISk vpOL ssl 9901 ou uek 291 oSk 8y
o 152 ozt x4 651 b 98 ok 86L 51 1804 vl 186 ovk 800k | 99k vl 8st 680k | o9v
vy 82 veok 12 vl W sL 604 2sL 67k v20l ssl 26 8sl 256 8sL 980l | 6wk 620L | P
[ v2e  evsh 6l 82l 6 v9 04 80L Ik o0z6 2 6.8 ost 668 671 8201 1wk 126 2
ov uz vSL o vh 8 £ 96 599 sl 26 ozt 828 sel 1v8 \wh 126 sl Si6 ov
8s 661 ozt st 1o 9 v 16 v29 ozl 998 su 6.L ol 86L ool 26 sel 298 8s
9 81 6821 st 88 [ ve s8 s8s 61 818 901 2sL 601 osL sel 598 i us o
v ou uet m oL v sz 6L 1v8 2 1L oot 189 20k voL 8l vi8 oH 192 v
23 soL 51 6 v9 2 ot L s sot 9zL £6 vv9 96 199 i 992 voL n 23
o | esor  euz ssl 9901 8 £5 L 8 69 2y 66 289 .8 £09 06 619 voL ozL 16 699 og
82 S86 1629 Sk 866 9 v 0 L 9 iy £6 w9 28 £95 v8 6.5 86 s19 16 929 82
92 ov6  28v9 | ssi £96 S g 4 L 09 2w .8 109 9L s28 8L ovs 26 ££9 s8 v8S 92
v 268 9819 92k 128 S v2 v sl SS 288 28 295 1 68t sL £0S 98 265 6L vbS w2
ze 958 2065 81 218 4 Sk 9 oz- IS vse 9L 925 99 ssv 89 891 08 £55 $L 208 (4
oz 918 8295 Okt 952 ! z 8 9z- v 928 7] 06t 19 22y £9 vy [ 9is 89 oy oz
8L 8.  v9sS | 2ok £0L 0 1 6 le- s oog 99 57 5 o06s 85 201 oz o2 £9 oy 8L
ok 1L oS S6 259 [ 8- W 25- ov 4 29 sy 2s 09g S el s9 ory 85 sov ot
v 90.  v98Y 88 £09 s sl- 2 2v- o 12 5 68 8y lge 0s 2vs 09 iy S eLs vh
2 119 829 18 185 9 2e- v ov- 3 622 £ v9g 144 vog or sig ss 28s 0s 223 2
ok 889  lOVY sz IS 8 82- sk Is- og 202 32 9ge ov 8.2 [ 882 IS 2se st sig o
8 209 z8ip 69 e ok ve- ok ss- 2 81 st 60 .8 £52 88 £92 2% ves 4% 982 8
9 9.5 168 £9 334 2 65- o 65- v 291 W 82 133 ose se 652 s 162 8 192 9
v ovs 89 5 968 st - £ 29- e 6L 8 092 og 802 Is a1z 62 [V v 92 v
[ 815 zuse 25 198 vl 60~ 61 99- 61 28 v 95 2z 81 82 s6l 98 we 1e a1z [
o] (1534 v8ge 8y 214 18 £6- 02 69- pa% Sib e Sie ve 191 14 vl (4 vee 8¢ 6L 0]
2 SOt £02g f4 162 pis G- ¥4 (VA v 00k 82 Y61 ¥4 8vl x4 SSE 62 202 S (VA% 2-
V- 62t 6208 62 192 8t 19- [44 Vi k4% S8 S vil 61 [} 51 02 181 4 181 k44 ISL -
9- Sy 2982 Se ore 6} S9- £e Ll ot VA k44 SSh ok eh pas ozl £C =18 61 eel 9-
8- 265 1022 3 vie (4 89- x4 6L 8 85 o0z 251 vh 16 Sk £ok [ vl o ok 8-
ok 69g  vSe 2 681 [ b- v 18- z or o ozk 2 28 b 88 81 sel v 66 ok
2 8y 00ve v2 994 e L sz 8- s se st SOk ok 89 W vL ok 604 2 v8 2
i 828 8522 12 svl x4 oL sz 8- H ve i 06 8 ss 6 09 i £6 o 69 vi-
ok 808 222 8 sel x4 6. 92 98- [ vk I sz 9 13 2z 8y W 8L 8 9 o
8l- 682 266} sk 901 v 18- 92 88- L v 6 29 S Ie [ og 6 s9 9 sy 8-
oz- V4 8981 i 68 sz 8- 92 68- [ - L 0s 8 oz v ve 8 2s S Ie oz-
ee- | vse  osu m 2L 4 s8- 22 16- v s S 88 L ok 2 vh 9 62 g oz 2e-
ve- | 82 o9gor 8 5 92 18- 22 26- L oz- v Vi3 0 L L v v 82 L ok ve-
9z | eee 825t 9 v 92 88- 22 £6- 6 Le- [ ot 2 8- 1 s- 4 2 0 0 92-
82- 202 Sevl v 0g 92 06- 82 v6- k4% ve- 3 L S- 9l- - - 3 L g 6- 82~
0g- 261 9zelL g 8L 22 16- 82 S6- v ov- [0] 2 L ve- 9- Le- () 2- S pAS og-
2g- 6.1 eeeh 3 L 22 26~ 82 S6- 9t ot- 2 H- 6 Ie- 8- 8¢- 2z 15 A Se- ce-
ve- 991 12408 3 £- 22 £6- 82 96- pas 1S- g 61- H 8g- oL Ge- £- 61- 6 4 ve-
9¢g- Sl 6501 14 gi- 82 v6- 62 16- 6} 95- 14 9z- 28 - 2k - - 9z- L 8g- 9¢-
8s- 48 6.6 9 2e- 82 S6- 62 6 oz 09- s ss- St 6- vi- Lv- s s¢- si Sp- 8g-
or- isk £06 6 os- 82 96~ 62 86- e S9- 9 65- ot vs- sl es- o 65- st 0s- ov-
e} 1sd edf 1sd ed) 1sd ed 1sd edf 1sd ed 1sd ed 1sd edf 1sd edf 1sd ed 1sd ed Do
maa EREENE]
vvLy 2128 pzegziy fxd¥] azyezIy Jhveery (SIN) VosPy veisy epsLy

oL Sey  lgéc  OSv  vOle | L6v lebe  82S ev9g | ek Sl62  I9v LS | 02k 9682 | ¥29 20Sv ¥E9 L8V | £69  9LF | 9/9 099v 9.9  £99t 0oL
89 SO  v6le ey Sl62 | WP M2 90§ l6ve | 2 O¥8C evy SPOL | 2Ov G/ | L6S  9Wy 809 6l | £99 £LSv | L¥9 I9v¥ 8¥Y9 S9¥P | 89
99 /8¢ 9992 gl 6¥8C | €S  lgle S8y S¥ES | €62 60.C g£2v 9l6C | S8F S92 | LS l262 28S  SlOV | S€9 8¢k | 6L9 892y 029 w2 99
9 698 epSe 96  l2lz | 2sv 862 S9F PO2E | S.& ¥8SEZ SO 26/ | 698 £¥Se | 9¥S G9/8 8SS SG¥8S | 809 O6ly | 265 £80Y £6S 060V | t9
29 ese  veve 8.8 6092 | 2w 6882 Svv 9902 | LS€ £9ve /8BS 192 | €5 g£€ve | 225 66SE ¥ES  189% | IBS  800F | 995 S06E 19S5  £I6E 29
09 Gee  60gC 298 S6¥C | ¢6£ 90Lc Sev €962 | OvE 9vee  0LE  ¥SST | L££ 92T | 66¥ 68¥E WS 1eSe | 9SS  2g8¢ | WS veLE PSS LpLE 09
85 6le 66l 9ve Vv8ee | v.&  LJSC  LOv G082 | vee veee vSE  Wwbe | 222 €222 | 9b G828 88F L1992 | 18§ 2992 | LS  89SE 6l 9.5¢ 85
95 ¥0g €602 0£e L/ge | 9S€ vSve 68S 0892 | 80L 92le 8EE ggfe | 80  gele | SSP gl /9v  8leg | LOS 86V | v6¥ 8OPE S6F  9lve 95
S 682 166} Sle  wlUec | eee  Sg€e L& 6S9C | £6C 220 g£ee 922 | ¥6C 920C | ¥e¥ £66C 9vy ¥.0L | ¥8F OveS [ eLF PSeE €L 292L S
2s 12%4 £68L log €202 aee 0ggez  tse £vve 6.2 2cel 80¢ gele 082 226l v §582 Er44 S5¢62 297 818 0S¥ solg ISt gle 2s
0s 192 86/l /82 9/6L | 90¢ OHZ 88e 0£€e [ S92 S28L v6C 202 | 192 I¥8L | S6E 22 90F 1082 | by OvOS [ OS¥ 2962 e 0L62 0s
8t pe 90 g/ £88L | l6C ¥00CT g2g  leTe IS¢ 2gL 08¢ 826k | ¥Se  v¥SZL | 9.& £6S5¢ /8E  1.9¢ | O2v 8682 | 60F £28C  U¥ 1282 8t
ot G¢¢ 619k  09¢ g6l | 9/ 206l L0g SHe | 8eC 9L 992 998l [ 2¥C 699l | 8SE 69 69 S¥SC | OOF 09/2 | 062 0692 l6E 8692 | 9¥
144 222  veSL  Ipe SO | 292 £08L 262 £l02 | 922 LSS €S  9vL | Oge  /8SL | lbe 0S£2 2Se  veve | 188 8292 | LIS 1952 £/  69%2 | vv
44 e £S¥L S22 129l | 8¥¢ 60 8/  Glel vie vl Wwe 099l | 6l 80SL | ¥eg Gfee G£€  L0g2 [ €92 00S2 | £9¢ [gve ¥SE€  vvve 44
ot 66L  P/8L g2 62SL | S£¢  8I9L  ¥9C 028l | 20C vegk  6gC  L.SL | 802 2ghk | 8O  vele  8lE  v6le | SvE  L/€2 | 922  Llge L€ ¥ege ot
8¢ 88l 6621 cle LovL (444 lgst 1se 62t 1513 8lglL Lle 961 6L 6SgL £62 1102 20 9802 82¢g 8522 6lg 20z 0zg 6022 8¢
9¢ 718 /ggl 10z g8gL | Ole lbvl 882 Ov9L | O8L vP2L 902  6ivL | 8L 882l | 8.  vl6L /82 186l e vvle | €02 1602 ¥0E 8602 | 92
e 891 85l 06l cigl 86k 99¢L 92¢  SSSL | O jZ108 sel  vvelL | L4 Ocgel | €92 S8l £/2 088k | S6¢ t£OC | 882 ¥86L 682 066l e
(4 851 160k o8t avel 8L 6821 1454 jA4% 09t 904 g8l e/2L 91 S (524 0zLL 652 [4:718 082 8261 £ 1881 1 2x4 /881 (4
og 6vL 2O Ol vl 9L Glel 202 vesh ISt oL G/l gogk | 8St 160l | 922 8291 Sbe 689l | S92 928l | 8SC 8L  6SC 88 og
82 ovlL 996 9L 60LL [ 991 gl 16} 8igh k243 6.6 SoL 811 6Vl  0gOL [ €2 OvSk 2ge  86SL | ST 82/l | Sbe /891 Sve 269l 82
92 esk 106 ask 9v0L 961 S.0L 181 1248 £el 616 951 201 349 1.6 ke oStk (4 cisk 182 vl 1ge S6S1 2ge 109t 92
ve ek 158 Syl 986 9vL  OLob 0LL S/ sel 298 pass Lot ol Sl6 66l  v/eL 02 82wl | ¥eZ  vvSL | 6le  L0SL 6l 2Isk ve
k44 ol 161 Sel 826 81 1v6 9L 0LL patS 208 8gl 256 gelb 198 88L 962l 96l 8PSl Le Syl [ 902 gevl L0  82vl k44
0z 801 ovL 31 £/8 62k 888 ISk 0L [ Ou SSL ogl 568 pats 608 LU geel w8l [Vx4% 66L  g/¢L | S6L Cbel  Sel  9vel 0z
8l 1oL 969 6L 618 ozck 0g8 [243 086 2oL S0L (443 78 OLL 65L L9 05t v 2611 88L g6ck [ £8L  ¥92L  ¥8L 892 8l
9L 6 69 118 89L S 9L, el 126 S6 189 i 681 £0L 192 5L 180L g9l ozl 9L ek (218 68LL L1 6L 9L
b 88 09 0L 6LL SoL 2L gekb 98 68 29 L0k 6gL 16 599 pads GloL  ¥SL 650 | 991 i 2oL 8L £91 [4418 b
[ 18 295 86 £29 86 .9 pATS 608 28 895 00k 169 06 229 8gk 2S6 il £66 9GL  £/0L | geSL  6¥0L £S5k £S0L 4
oL 9L 12s 16 829 16 929 oL pA=7) 9L 125 6 Sv9 v8 085 62k 268 gsl 126 9vL  900L | Pl £86 eyl 186 oL
8 oL 4:14 S8 S8S 8 185 2oL 90L 72 8% 8 109 8L ovs et ve8 o141 2.8 181 543 el 126 el 26 8
9 9 k144 6L S 8L 8¢S 96 659 S9 (o534 18 695 gL 10S S 6L 8l S8 748 088 4% 198 Seb 98 9
14 6S 601 L S0S (23 L6v 68 219 09 1254 SL 0zs 29 S9r SoL 92L OLL 09 6L 128 AN 08 AT 908 14
4 SS 9.8 89 89t 99 85 £8 695 SS 08g 0oL 18% 29 ost 86 9.9 £0L 80L e 7 601 6vL 601 25 2
0 0s e £9 [44 19 k44 1L 825 0S 8ve S9 Sty 85 162 16 829 96 659 £0L cL L0k 169 Lok 669 0

2 14 e 85 862 9s 98¢ %2 88% 14 g 09 154 g5 S9¢ 8 £85 68 (1] 96 199 6 paze] 6 059 2
- [£4 S82 s 99¢ 1S g£6¢e S9 oSt k44 682 SS 8.8 6t geg 8L 685 28 995 68 £19 8 009 8 209 -
9- L2 852 6t 9gg VAd leg 09 Sy 8¢ 192 0s ors 144 90g 2L 861 9L ves 28 195 08 §5S 18 185 9-
8- 123 £ge 144 208 44 162 SS 18¢ e gge 9t AR o 6.2 29 (34 0oL £8Y 9L £es L cls SL 1S 8-
oL~ og 602 o 6.2 8¢ £9¢ IS 8ve 5 He (14 682 pis 262 19 %44 9 ha44 0oL 18t 89 [Ya4 69 £ly OL-

e pxq 98l 18 £5e ve 122 9t 8lg P4 88l 8¢ 292 e 622 95 988 65 80t 9 [a24 £9 £y £9 ka4 ek
- <4 9L g 82e 1 He r44 682 e 991 e 182 og 902 IS £6¢ S £L8 65 SO0t L5 968 85 86¢ Pl-
9l- ¥4 i3 og S02 L2 88l 8¢ 192 ¥4 oL 5 gie L2 8L Ly ¥4 (54 ovg S 692 2s 29¢ £S5 £9¢ 9l-
8- 8l sekb 92 8L ve 991 ve gse 8L L2l 82 061 e oL ta4 162 14 608 6t 9g8 :i4 622 8t ogg 8-
0zg- 9L 0L x4 29t 12 Svl 1 le oL 601 e 691 ¥4 vl 8¢ £92 44 6.2 144 02 £ 862 £ 662 0zg-

ac gl 16 14 vl 8L gek Vxa 88l g 26 (44 (5143 8L 9zt e 9ge 9¢ 2se o 2k 68 692 68 0Le ac
ve- 13 SL 8L el 9L 0L e 991 19 9L 6L ogh oL 804 Ie e £g er44 9¢ e sg e sg ave ve-
9z- 6 09 Sk 90k gk 06 ¥4 St 6 9 oL cl gL 6 pr4 81 62 (1014 g 0ce e Sie e o9le 9z-
82 L pid 2k 06 H VL 8L ozt L pad v S6 13 L <4 S9k 92 8L 8¢ g6k 8¢ L6k 8¢ 26l 82
0g- S e H SL 6 6S 9L 80L S 123 (43 6L 6 £9 34 2 e 9St Se cll ve 891 4 691 0g-
aog- £ t44 6 09 L 14 gL 16 g t44 6 S9 L (34 8L el 0c selb 44 0st ¥4 PALS ¥4 PALS aog-
ve- [4 3 iz pAd S (2 H SL [ 13 s IS S Py Sk 90t b ol 6l ogh 8L ozt 8k P43 be-
9¢- 0 3 S e g oz 6 09 0 3 9 8¢ 14 Se gk 68 vl 86 = HE 9 804 9 804 9¢-
8¢g- 8 6- £ x4 3 6 L pad g 6- 14 92 4 i 19 eL k4 18 £l £6 £l 06 e 13 8¢~
ov- g 8l- [4 I3 0 < S ve S L= [ Sk 3 14 8 8% oL 929 13 9L 13 vL 13 vL ov-
Do 1sd edy isd edy isd edy 1sd edy 1sd edy 1sd edy 1sd edy 1sd edy 1sd edy 1sd edy 1sd edy 1sd edy Do
M3a 31ganga M3a 319ang M3a 319ang M3d 3784ng M3a 3784nga
(660N) V8EPY 4207y vievy (42} avsvy ey voiry

sjuesablijay uowwo) 104 eyeq
Ainasew Jo sayoul a.e 1sd Jopun seunby pal pue  suolje|ndjed Buljood-gns 1oy ainssaid a|qqng pue °
s|eosedoyy aAieBau aie edy Jopun sainby pey suone|nNojed jeayiadns 10y ainsseid ma asM al :mmw-—m al :#W-—mn Ewl—l

a3y Mmaa



